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Skills Practice
Answer each question then cross the answer from the box on the left. You
’
ll end up with 5 numbers left over (uncrossed) put these into the boxes at the bottom and then add them up to give a total
) (
Literacy
Draw a 
picture of each of these words:
negative
; multiplication; addition; inverse; equivalent.
) (
Research
When were negative numbers invented (
…
or discovered
) ?
) (
Memory
Learn your 2, 3, 4, 5, 6 times tables.
) (
Stretch
A tower block is 200m high to the 
nearest 100m, and 170m high to the nearest 10m.
Write down a possible height for the tower block.
)
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